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2A:

oI T )}

B HEM O 22X
ol NEY UHE =X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AR A0 A22e| KA (HEALY) 5,611,044 7,013,805 1,402,761
308 XXM SOIA 5,611,044 7,013,805 A1,402,761
01 HRHH B E2ES 5,611,044 7,013,805 1,402,761
OAtRAIH0F AZ2te] KA 5,611,044
t2xe|ER0| =2REs N 500,000 561,610 A51,610
308 AXIHSOIA 500,000 561,610 A51,610
01 MAHHBSEEXS 500,000 551,610 /51,610
Ott2xe|=20l 20FEs A 500,000
HYRE X (HEAIY) 2,353,500 2,278,500 75,000
308 AFAIEHMSOIE 2,353,500 2,278,500 75,000
01 AN N B2 LS 2,353,500 2,278,500 75,000
OHU=ER Al=d| X2 2,353,500
HURE XA 390,000 361,277 28,723
308 XXM SOIA 390,000 361,277 28,723
01 XN B2 LS 390,000 361,277 28,723
OHYR L st =l X2 60,000
Osg HYRL A=l N 330,000
SHGUALOIE SAF & 2tot2tel 211,500 213,000 1,500
Jl 141,000
= 70,500
308 AHXIHMS0IA 211,500 213,000 21,500
Jl 141,000
=S 70,500
01 XN B2 LS 211,500 213,000 1,500
O HLGUAIOIY HAF & BH0F2HL 211,500
Jl 141,000
< 70,500
Ol==0F & A& H0IA0F 2 =2H| X2 234,000 178,500 55,500
Il 156,000
= 78,000
308 AtXIEHMSOIE 234,000 178,500 55,500
Jl 156,000
= 78,000
01 RSN EES 234,000 178,500 55,500
OO0I=0t & dd-0la0r 2=Hl XI& 234,000
Jl 156,000
s 78,000
HE 2o 26,250 13,500 12,750
) 17,500
& 8,750
308 AtAIEHMSOIE 26,250 13,500 12,750
Il 17,500




I E L
M HEM Y 33
ol NEY 2 =& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 8,750
01 HASHHBSEEXS 26,250 13,500 12,750
Ol oL & I 8H 26,250
Il 17,500
= 8,750
FaEaE JAEL O|FH| K2 25,425 19,875 5,550
Jl 16,950
=S 8,475
308 XXM S0l 25,425 19,875 5,550
Jl 16,950
< 8,475
01 XN B2 LS 25,425 19,875 5,550
OFAEAR YAEM OlFH| XN&H 25,425
Jl 16,950
= 8,475
DAY ZMR=Hl XA 547,500 591,000 243,500
7l 365,000
= 182,500
308 XX HMSO0IA 547,500 591,000 A\43,500
Jl 365,000
s 182,500
01 HXEHH B E2ES 547,500 591,000 A\43,500
O LUME g X2 547,500
Jl 365,000
[ 182,500
JINA € ZHES AN 3,054,000 2,634,000 420,000
= 2,036,000
= 1,018,000
308 AHXIHMSO0IA 3,054,000 2,634,000 420,000
= 2,036,000
= 1,018,000
01 AXNBEES 3,054,000 2,634,000 420,000
OJHAH & ZH27 AN 3,054,000
= 2,036,000
== 1,018,000
SAEA 2018 X 49,500 49,500 0
) 33,000
= 16,500
308 AtXIEMSOIE 49,500 49,500 0
Il 33,000
= 16,500
01 AXENBE LS 49,500 49,500 0
O2Xed 2x01- X3 49,500




2A:
X XH -
o e

=aak

oI T )}

NEY CHE
NEY CHE

14 44

SA - B BRA(SH) - HRA - of v e HIDE2
7l 33,000
=S 16,500
dsHit A BX 58,950 0 58,950
Il 39,300
< 19,650
308 AtXIEHHMSO 58,950 0 58,950
Jl 39,300
= 19,650
01 XkXI 58,950 0 58,950
OdsSHA A 28,950
Jl 19,300
= 9,650
og+
A 30,000
Jl 20,000
[ 10,000
ol AEA 516,000 0 516,000
Il 344,000
= 172,000
308 AHXIE 516,000 0 516,000
Jl 344,000
= 172,000
01 RIXISHAE 516,000 0 516,000
ogal 516,000
Il 344,000
== 172,000
Hetg olgd X 17,322,500 16,297,700 1,024,800
= 15,637,000
= 1,685,500
308 AHXIE 17,322,500 16,297,700 1,024,800
= 15,637,000
= 1,685,500
01 Xk 17,322,500 16,297,700 1,024,800
OHRBte 17,322,500
= 156,637,000
=S 1,685,500
GESES U el 30,816 46,458 26,642
= 35,280
< 4,536
301 &gt 39,816 46,458 6,642
= 35,280
= 4,536
01 AlRI2E S(FDE=T 39,816 46,458 6,642
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2A:

oI T )}

B HEM O 22X
ol NEY UHE =X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 50,000
=S 50,000
307 lztol & 100,000 0 100,000
Jl 50,000
== 50,000
02 2IZHBYAIHE X 100,000 0 100,000
Odldor 3sx18 NFdH 2 X 100,000
) 50,000
& 50,000
ChXHA Ot X1 120,000 129,759 N9,759
CHAHA & &t A2Z2te] X3 120,000 129,759 N9,759
308 AXIHMSO0IA 120,000 129,759 A9,759
01 XN EES 120,000 129,759 A9,759
OUXtH & ¢t H2ze| X 120,000
25015 N2 553,557,363 506,093,598 47,463,765
= 331,473,977
= 1,882,000
== 146,685,990
= 73,515,3%
R0 EFAHIA JIE &= 553,557,363 506,093,598 47,463,765
= 331,473,977
[ 1,882,000
= 146,685,990
= 73,515,3%
ool &= 1,717,500 3,960,000 A2,242,500
= 1,145,000
< 572,500
403 MR HHMSAHE01H 1,717,500 3,960,000 N\2,242,500
[ 1,145,000
= 572,500
01 AXISHA=2 22X 1,717,500 3,960,000 A2,242,500
O08l0ld &SAHY 1,717,500
[ 1,145,000
= 572,500
OeloldelEsd 2 (HEAY) 1,650,000 1,648,000 2,000
307 lztol & 1,650,000 1,648,000 2,000
05 2ItRIE = 1,650,000 1,648,000 2,000
ooeloleldsisd =29 1,650,000
25 SABAE X2 40,187,000 37,348,000 2,839,000
308 AXIHS0IA 39,662,000 36,687,000 2,975,000
01 HAHHBSEEXS 39,662,000 36,687,000 2,975,000
OS] SAIMAMY XY (HHEsZ 5) 39,500,000
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661,000

120,000

120,000

120,000

20,000
20,000
20,000

631,900
631,900
631,900
573,860
573,860
573,860

39,000

39,000
39,000
172,130

Ofl &F2H

50,000
100,000
12,000
525,000
525,000

450,000

15,000
25,000
35,000
136,000
68,000
68,000
136,000
68,000
68,000
136,000
136,000
68,000
68,000
25,000
25,000
25,000
25,000
618,441
618,441
618,441
297,850
320,591
1,143,000
1,143,000
1,143,000
1,143,000
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SM: QpEY
ZH: 25 1% K2
el S=0F EFAHIA JlEE EF EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 91,200
=S 60,800
11 AMEISXAEEES 152,000 172,130 A20,130
O0lsA! =0lua 23 152,000
= 91,200
< 60,800
AZER 2FAHE K2 1,062,260 1,061,400 860
= 803,430
= 258,830
307 @12t0| & 50,860 50,000 860
= 25,430
= 25,430
11 AMEISXAEEES 50,860 50,000 860
OAIZEHl EFAIE 2teldl2 2¢ 50,860
= 25,430
s 25,430
308 AIXIHHISO0IA 1,011,400 1,011,400 0
= 778,000
& 233,400
01 HASHHBSEXS 1,011,400 1,011,400 0
OAIZHHI EsAtE X1 1,011,400
= 778,000
= 233,400
oelold e 1,105,500 1,332,000 A226,500
s 737,000
s 368,500
403 MR SHHMSAH=01H 1,105,500 1,332,000 A226,500
= 737,000
[ 368,500
01 A= 2L 1,105,500 1,332,000 A226,500
OG0l JIs2Z 1,105,500
[ 737,000
= 368,500
EWUANE eIl K& 74,808,493 38,479,430 36,329,063
= 50,781,000
S 24,027,493
308 XX HMS0IA 74,808,493 38,479,430 36,329,063
= 50,781,000
== 24,027,493
01 HXEHH B EES 74,808,493 38,479,430 36,329,063
OZRXA00ld el2b| 74,808,493
= 50,781,000
== 24,027,493

<o)
|




SM: QpEY
B 2% 015 X8
el S=0F EFAHIA JlEE EF (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IR0IE=E K& 180,250,733 156,410,030 23,840,703
= 145,798,000
== 34,452,733
308 AHXIEMSOIE 180,250,733 156,410,030 23,840,703
= 145,798,000
< 34,452,733
01 HASHHBAEEXS 180,250,733 156,410,030 23,840,703
Og=0t 252 XN&E 180,250,733
= 145,798,000
= 34,452,733
gt EIS X 3,180 13,500 10,350
& 1,050
= 2,100
308 XXM SOl 3,180 13,500 210,350
= 1,050
= 2,100
01 XN BSELES 3,150 13,500 10,350
ogu= 2x=X& 3,180
= 1,050
= 2,100
HEgsE-g I 3,102,483 4,581,887 1,479,404
= 2,508,000
= 594,483
308 XX HMSO0IA 3,102,483 4,581,887 1,479,404
= 2,508,000
s 594,483
01 XN B2 LS 3,102,483 4,581,887 1,479,404
ogdegs=g A& 3,102,483
= 2,508,000
[ 504,483
B30I K2 (HEA) 2,391,253 2,852,846 A\461,593
308 AFXIEMSOIE 2,391,253 2,852,846 461,593
01 X SHHEAEES 2,391,253 2,852,846 461,593
Os3g0eolE K& 2,391,253
SRR MM K& 18,376,296 17,214,473 1,161,823
= 12,495,190
s 5,881,106
308 AHXIEMSOIH 18,376,2%6 17,214,473 1,161,823
= 12,495,190
< 5,881,106
01 XN B2 LS 18,376,296 17,214,473 1,161,823
OuAZREZ & 13,946,778




SM: QpEY
ZH: 25 1% K2
o9l R0 BRAUIA Jl8t 25 (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 9,487,000
=S 4,459,778
OuAtB2E XI&H| 490,347
= 332,190
< 188,157
OsSOHEEFNA SE225E 3,939,171
= 2,676,000
= 1,263,171
oelold 2SR 3,002,747 2,242,883 759,864
= 2,039,485
== 963,262
308 AXIMS0IA 3,002,747 2,242,883 759,864
= 2,039,485
== 963,262
01 HAHHBSEEXS 3,002,747 2,242,883 759,864
O0i2l01E WM = 697,805
= 474,672
= 223,133
OO0gl0ld xtet=24| 1,253,324
= 850,000
=S 403,324
OsHELNHIN 0 XA 211,408
= 142,813
< 68,59
Ozgalpdae| X=X 840,210
= 572,000
= 268,210
Foltd 258 K 66,934,296 81,326,520 A14,392,224
= 66,934,296
308 AtXIEMSOIE 66,934,296 81,326,520 N14,392,224
= 66,934,296
01 HRESHH B EES 66,934,296 81,326,520 N14,392,224
O=cltd 252 A& 66,934,296
= 66,934,296
FeltE E]2 KIS 6,579,000 0 6,579,000
= 6,579,000
308 XM SOIE 6,579,000 0 6,579,000
= 6,579,000
01 XN BSELES 6,579,000 0 6,579,000
OFcltd 288 FIOHKZ 6,579,000
= 6,579,000
2220 XA 116,395,588 123,186,885 26,791,297
= 94,004,302




SM: QpEY
ZH: 25 1% K2
el S=0F EFAHIA JlEE EF EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 22,301,286
308 AXIHSOIA 116,395,588 123,186,885 26,791,297
= 94,004,302
= 22,301,286
01 XN B EES 116,395,588 123,186,885 AB,791,297
ORZS0XH 116,395,588
= 94,094,302
= 22,301,286
SEWAL, CHHMIDAL X2 33,877,623 32,878,854 998,769
= 22,795,370
< 11,082,253
307 el2tol & 1,369,000 1,493,500 N124,500
= 684,500
& 684,500
11 AMISXAIEEX 1,369,000 1,493,500 124,500
OUM AL e124H| 1,369,000
= 684,500
= 684,500
308 XXM SOIA 32,508,623 31,385,3%4 1,123,269
= 22,110,870
s 10,397,753
01 HXEHH B E2ES 32,508,623 31,385,3%4 1,123,269
OAlZ THAIW AL 2124 1,962,705
= 1,332,870
[ 629,835
OEXWA A& 30,545,918
= 20,778,000
= 9,767,918
orssEs =8 146,317,671 0 146,317,671
= 86,968,007
= 20,149,142
Il 2,379,000
= 26,983,878
= 9,837,644
otsEs =8 146,317,671 0 146,317,671
= 86,968,007
= 20,149,142
Jl 2,379,000
= 26,983,878
= 9,837,644
NS 0tsHE elAd] K& 16,375,850 0 16,375,850
= 12,596,808
< 3,779,042




SM: QREHY
B Olsss =X
el OlsEs 4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 16,375,850 0 16,375,850
= 12,596,808
== 3,779,042
01 XN BSELS 16,375,850 0 16,375,850
OXSotsHIE Al K& 16,375,850
= 12,596,808
& 3,779,042
NS 0tsHE 29l A 2,847,304 0 2,847,304
[ 2,190,234
= 657,070
308 XtXIEMSO0IE 2,847,304 0 2,847,304
= 2,190,234
=S 657,070
01 XN BSELES 2,847,304 0 2,847,304
OXEotsHE =23l X2 2,847,304
= 2,190,234
[ 657,070
Sdg XNH0tsdH FIH2 186,420 0 186,420
[ 143,400
= 43,020
308 AHXIHMSO0IA 186,420 0 186,420
[ 143,400
= 43,020
01 AXEH B2 LS 186,420 0 186,420
OS4E XNY0tsdH It 186,420
s 143,400
== 43,020
KNSOtSHEH AEX2HY 29 172,807 0 172,807
[ 51,842
= 120,965
307 @120l & 172,807 0 172,807
[ 51,842
= 120,965
05 2IR”tRIE = 172,807 0 172,807
OXIS0tsHIE AME=XSE 2 172,807
s 51,842
S 120,965
CletNssdl 21248 X 3,357,000 0 3,357,000
= 2,238,000
< 1,119,000
308 AHAIEMSOIE 3,357,000 0 3,357,000
[ 2,238,000
= 1,119,000




SM: QREHY
B Olsss =X
el OfsEs = (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 XN B2 LS 3,357,000 3,357,000
OtgnNEsaE bl X2 3,357,000
= 2,238,000
< 1,119,000
CreNE=sde 238 N3 504,000 504,000
[ 336,000
= 168,000
308 AFRIEHMSOIE 504,000 504,000
[ 336,000
= 168,000
01 AXH B2 LS 504,000 504,000
OtigNss4dH 244l XA 504,000
s 336,000
s 168,000
CletHssSdEe 4Xidl X 1,134,750 1,134,750
[ 891,000
S 243,750
403 AXIEHMSA=Z01d 1,134,750 1,134,750
[ 891,000
= 243,750
01 XISHH A 22 E 1,134,750 1,134,750
OUgN=sHE £Xidl A& 1,134,750
= 891,000
S 243,750
CrENESSdE 2EAI2t 2 X2 72,504 72,504
= 48,336
[ 24,168
308 AIXIHHISOIA 72,504 72,504
[ 48,336
= 24,168
01 HASHHBSEXS 72,504 72,504
OUEN=sSHEH S2SAIZ 3F XE 72,504
[ 48,336
= 24,168
StEsH el2dl X 186,312 186,312
= 186,312
308 AtXIEMSOIE 186,312 186,312
= 186,312
01 XN BSELES 186,312 186,312
OstussH 28] X2 186,312
= 186,312
StESH JIEt2Ed] X 72,000 72,000
= 72,000




SM: QREHY
M olssE £
el OfsEs = (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOl 72,000 72,000
= 72,000
01 AXEH B EES 72,000 72,000
OstSEH JIEH2EHl X 72,000
= 72,000
Ots= XA IHAXIR 2,149,578 2,149,578
[ 1,663,522
= 496,056
308 AFAIEHMSOIE 2,149,578 2,149,578
= 1,653,522
= 496,056
01 AXEH B2 LS 2,149,578 2,149,578
OOtSSAIWAL THAXI& 2,149,578
s 1,653,522
== 496,056
OlS=8AE stsetd &4 240,000 240,000
308 AXIHSOIA 240,000 240,000
01 HAHHBSEEXS 240,000 240,000
OO0gl0l B2l HAE 10,000
OXlg0tsHE XA 230,000
OlsSSAIE SAHAL 214H] =X 1,868,500 1,868,500
308 XtXIEMSO0IE 1,868,500 1,868,500
01 XN B2 LS 1,868,500 1,868,500
OXISOtSHIE! SAHAF 212AH| =Jt X 1,868,500
OlSESSAIE SAHA XM20HM 638,697 638,697
308 AXIMSOIA 638,697 638,697
01 HXHHBAEES 638,697 638,697
OOlS=SSAIE SAEL EAgA8 X2 216,552
O0ts=SsSAIE SAHL MLIHEH] X 422,145
Ols=SAIE SAHA SEHst 25,000 25,000
307 212+01& 25,000 25,000
11 AMEISXAEEES 25,000 25,000
OXS0ISHE SAHL s A& 25,000
OlsSsSAE JIs2d K& 155,500 155,500
403 MR HHMSAH=01H 185,500 155,500
01 AXISHHA 22 £ 155,500 155,500
O0ts=8AIE JIsEd A& 104,500
OXISOotSHE WSIITH X AIE2Z3A 51,000
OlsEsSAE Ws X208 A 165,500 165,500
308 AFAIEHMSOIE 165,500 165,500
01 AX N B2 LS 165,500 165,500
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SM: QREHY
B Olsss =X
el OlsEs 4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXSotsHy ne 2208 29 2 ots
slelagor &y 30,000
OUEgNSsdH s =208 29 135,500
Ols=XRI32 248 4,250 0 4,250
201 et 3| 4,250 4,250
01 AtR2te|Hl 4,250 4,250
OOts=XAs & 82X 2¢ 4,250
Ots=¢ XI& 102,540, 117 0 102,540, 117
= 86,968,007
== 16,572,110
301 EtE NS 102,540, 117 0 102,540, 117
= 86,968,007
[ 16,572,110
01 Al EE A S (2 REXMA) 102,540, 117 0 102,540, 117
O0ts+=g30A= 102,540,117
= 86,968,007
= 15,572,110
Z240ts 2441 A& 6,542,250 0 6,542,250
7l 2,379,000
= 1,663,250
= 2,500,000
308 AHAIEHMSOIE 6,542,250 0 6,542,250
Il 2,379,000
= 1,663,250
= 2,500,000
01 HAHHBAEES 6,542,250 0 6,542,250
OZA0ts SAHl XI& 6,542,250
Jl 2,379,000
= 1,663,250
= 2,500,000
sHIE E2dEsse a4l NE 7,079,332 0 7,079,332
= 7,079,332
308 XXM SOIA 7,079,332 0 7,079,332
= 7,079,332
01 HAHHBSEXS 7,079,332 0 7,079,332
Ooglls Ed&E/e S48 A& 7,079,332
= 7,079,332
(== NER 41,913,074 192,028,485 150,115,411
= 16,402,390
[ 4,823,223
Il 1,167,319
== 20,520,142
Olssld ZZ2HE =& 41,913,074 192,028,485 A150,115,411




SM: QpEY
g OlIs=Asd
&Rl Olssley ZEHE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 16,402,390
[ 4,823,223
Il 1,167,319
== 20,520,142
ANSotsEsd20|12 2 4,362,678 4,362,678 0
= 2,152,785
< 2,209,893
307 gl2to| & 4,362,678 4,362,678 0
= 2,152,785
= 2,209,893
05 git?(& = 4,362,678 0 4,362,678
OXdotsEsdEl2 29 4,362,678
= 2,152,785
= 2,209,893
ANEotsEsd=zT|2 4X 600,000 0 600,000
= 300,000
== 300,000
307 elztol & 600,000 0 600,000
= 300,000
< 300,000
10 Al SXAZEE 22X 600,000 0 600,000
OXgtsEsd=2)|2 4X 600,000
= 300,000
= 300,000
SIiIIoHOtsS&EE 2], l2dl, AFgHI 2,535,253 2,429,350 105,903
= 1,448,706
=S 1,086,547
308 XXM SOl 2,535,253 2,429,350 105,903
= 1,448,706
< 1,086,547
01 XN BSELES 2,535,253 2,429,350 105,903
Ostiiulsiotsdt 29 X3 2,535,253
= 1,448,706
== 1,086,547
OLSSIUEYRl izt JIseEd 39,150 49,343 210,193
= 28,1850
= 11,000
402 BIZtAH=01H 7,300 27,780 20,480
= 3,650
s 3,650
02 QI X2 AL EE(0IETHE) 7,300 27,780 A20,480
Oots&etg x| elZet JIsE2H(XH0sE
SHERIIZ) 7,300




SM: QpEY
g OlIs=Asd
el Ols3sly ZZ2RE R4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 3,650
=S 3,650
403 MR HHMSAH=01H 31,850 21,563 10,287
= 24,500
< 7,350
01 MHXIHHA 22X 31,850 21,563 10,287
OOtSetH Xl QlZet Jls22H (S IISH ot
Sl 31,850
= 24,500
= 7,350
Otsstid gl =012 243t ALY 100,000 100,000 0
= 50,000
== 50,000
307 elztol & 100,000 100,000 0
= 50,000
[ 50,000
02 2IZHBYAIHE A 100,000 100,000 0
OO0tsSitHdEZ0 12 -3t At 100,000
= 50,000
= 50,000
HE HelXZHE 282 159,748 185,374 4,374
= 79,874
= 79,874
307 lztol & 159,748 185,374 4,374
= 79,874
== 79,874
11 AMEISXAIEEES 159,748 185,374 4,374
OHE HelXlzsdg 2 159,748
= 79,874
< 79,874
OlSEHH GIZERIIXIE AIHAIS 2,500 0 2,500
= 2,500
308 AHXIEMSOIE 2,500 0 2,500
= 2,500
01 RSN EES 2,500 0 2,500
Ootssth g &I A=A 2,500
= 2,500
22S0ts 188 284 2,617,704 2,273,861 343,843
= 1,745,136
= 872,568
308 XXM SOIA 2,617,704 2,273,861 343,843
= 1,745,136
s 872,568




SM: QpEY
2 ols=Xsd
el Ols3sly ZZ2RE R4 (St &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
01 HXSHH B E2ES 2,617,704 2,273,861 343,843
OREslls 188 =24 2,617,704
= 1,745,136
= 872,568
otd & el s 257,000 547,322 N290,322
307 212+01™ 72,000 362,000 290,000
11 ARRIS XA E X 72,000 72,000 0
Ootssoeg X2 72,000
308 AHXIHMSO0IA 185,000 185,322 AN322
01 AXHHBLELS 185,000 185,322 A322
O0ts H2dsd & MES X2 185,000
MEOLH KA 372,000 734,615 A362,615
301 LENZ 2,000 355,400 A3563,400
02 MBI 2HHSFHS(HAAS, XLHE) 2,000 355,400 A353,400
O&EdL geFot= A& 2,000
308 XXIHMSOIA 370,000 379,215 N9,215
01 X SHHBAEXS 370,000 379,215 NQ,215
Oots deerd X 370,000
stsatd x4 197,000 452,366 A255,366
308 AHXIHMSO0IA 197,000 452,366 A255,366
01 AXHHBAELS 197,000 452,366 A\255,366
Oots stsed K& 197,000
Ols=EXAIE & D12 - &l 29 X 4,245,804 4,192,736 53,068
307 212t01d 857,198 779,327 77,871
03 PIIHNEE2EHI 2 287,198 269,341 17,857
ozaoe 24 K& 287,198
10 MEISXAEHE2EHIE2X 570,000 509,986 60,014
OsgIIEASXEdE 29 X 570,000
308 AHXIHMSO0IA 3,388,606 3,308,409 80,197
01 XN EES 3,388,606 3,308,409 80,197
OOtS2=AIE 2| X2 3,388,606
AR SOtS HEE Atellzel 116,505 86,505 30,000
= 76,650
S 39,855
307 212t01™ 30,000 30,000
2 BIRIZAAIS R E 30,000 30,000
OBY LoSET 22 FMSIIAN L &
ER == 30,000
308 AXIHMSO0IA 86,505 86,505 0
= 76,650
= 9,85
01 RSN B EES 86,505 86,505 0




QA OIDHED
g OlIs=Asd
&Rl Olssley ZEHE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBAEXNS0IS REE Atell2te 86,505
= 76,650
== 9.,8%
AEEHEE ANEe=E N2 1,799,518 2,177,520 A378,002
= 1,594,510
= 205,008
301 EtE NS 1,799,518 2,177,520 A378,002
= 1,594,510
= 205,008
01 ARSI 2E AL S(SRNEEME) 1,799,518 2,177,520 A378,002
OXE=HIEE THe+=g X 1,799,518
= 1,594,510
=S 205,008
OtsgaX A% XA 7,816,710 6,580,732 1,235,978
= 6,926,200
& 890,510
308 AtXIEMSOIE 7,816,710 6,580,732 1,235,978
= 6,926,200
= 890,510
01 XN B EERS 7,816,710 6,580,732 1,235,978
Oots2 XAz X 7,816,710
= 6,926,200
= 890,510
AEEHEE g X3 361,000 351,000
301 EtE N = 351,000 351,000
02 A2 X LGS (FHAAHS, XNLWE) 351,000 351,000
OXNg=EHIEE MHEdxs N 294,000
OXNEEHIEE Wsrdatd s N3 57,000
NEEHIEE NEAE WA 2= 1,460,342 970,398 489,944
= 743,173
= 717,169
307 212+01& 1,460,342 970,398 489,944
= 743,173
=S 717,169
05 2IMRIE =3 1,460,342 970,398 489,944
OXEXE dgel= B 444,576
= 311,203
[ 133,373
OXEXId dgerel HXI(XEM) 108,666
OXE X2 Atgh 617,100
= 431,970
= 185,130
Ootsitgsd X& 290,000




SM: QpEY
g OlIs=Asd
o9l OlSEY ZRME EX (cre:xigl)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
FAHE OlSSEAHIA XIS 3,739,139 3,772,843 A33,704
= 3,478,271
S 260,868
308 AHXIEMSOIE 3,739,139 3,772,843 A33,704
= 3,478,271
< 260,868
01 HASHHBAEEXS 3,739,139 3,772,843 A33,704
OFAANE OtSSEMHIA X (EEAEE
) 3,739,139
[ 3,478,271
= 260,868
Ol=E2sdzgRd =3 1,485,438 1,420,039 35,399
= 1,344,952
== 110,486
308 AHAIEMSOIH 1,485,438 1,420,039 35,399
= 1,344,952
< 110,486
01 HAHHBSEEXS 1,455,438 1,420,039 35,399
O0ls23dgRa 22| 1,455,438
[ 1,344,952
= 110,486
oS IS 1,317,403 1,455,118 A137,715
Il 1,167,319
=S 150,084
301 LENZ 1,300, 181 1,420,595 A120,414
Il 1,152,059
== 148,122
01 Al EE AT Z2(2REXR) 1,300, 181 1,420,59% A120,414
A0S dsE N 1,205,856
Il 1,068,480
S 137,376
O ots d=s2L3 N 84,845
Il 75,179
= 9,666
Oge=otl=a X 9,480
J| 8,400
< 1,080
308 AHXIEMSOIE 17,222 34,523 /17,301
Il 15,260
= 1,962
01 X SHHEAEES 17,222 34,523 /17,301
Y=t 2X K& 4,424
Il 3,920
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SM: QpEY
g OlIs=Asd
&Rl Olssley ZEHE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 504
oggtlE X 12,798
Jl 11,340
= 1,458
LMY AS0S sz NE 8,240 28,600 /20,360
= 5,768
== 2,472
307 elztol & 8,240 28,600 220,360
= 5,768
S 2,472
1 AMISXAIEEXS 8,240 28,600 A20,360
OgeIEAg0ls &elilz A& 8,240
= 5,768
= 2,472
IHERAE OIS doi2gs I 42,197 44,320 A2,123
= 29,538
=S 12,659
201 er23 | 42,197 44,320 N2,123
= 29,538
< 12,659
2 s5=34l 42,197 44,320 N2,123
OJIESIE0ts doli28= A& 42,197
= 29,538
S 12,659
d20ts2=H A& 170,640 170,640 0
= 151,200
= 19,440
301 2EN= 170,640 170,640 0
= 151,200
s 19,440
01 AR 2EHSFS(RRNEXRTHE) 170,640 170,640 0
OdZ0tsE=d] K& 170,640
= 151,200
[ 19,440
OS82+l Xz 1,129 7,900 N6, 771
= 1,000
= 129
301 22N = 1,129 7,900 AN6,771
= 1,000
= 129
01 AR 2EHSFS(RNEXRTHE) 1,129 7,900 26,771
Ootss=-dl A& 1,129
= 1,000




SM: QpEY
I OlS=XSA
&Rl Olssley ZEHE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 129
gtaiots 25l A 47,400 37,920 9,480
= 42,000
= 5,400
301 2eEN= 47,400 37,920 9,480
= 42,000
=S 5,400
01 A2 HSHS(RNEERTH) 47,400 37,920 9,480
Ogeliaots 228l K& 47,400
= 42,000
< 5,400
SIS+ 6,578,736 12,472,950 A\b,8%4,214
201 fer= 3| 15,000 15,000 0
01 AtR2tc|HI 15,000 15,000 0
og=llz+g 24 15,000
301 22N = 6,500,000 12,392,800 /5,892,800
02 MBI 2HHSFHS(HAANS, KLHE) 6,500,000 12,392,800 25,892,800
og=lls+¢g A& 6,500,000
308 AHXIEMSOIH 63,736 65,150 A1,414
18 SIS0t oA AS At 63,736 65,150 A1,414
Og=J|s+g ALY 28 63,736
OlS=SXIAIE SAHAF QI24H] =Jt XI& 510,000 1,733,708 N1,223,708
307 gl2tol & 120,000 0 120,000
10 Al SXAZEE 22X 120,000 0 120,000
OO0ISE3dEI |2 SAHA =l 120,000
308 AFAIEHMSOIE 390,000 1,733,708 1,343,708
01 RSN EES 390,000 1,733,708 A1,343,708
OOls=XAE(OEE ¥ EE) SAL oA
gl =JHXI& 390,000
OLSSXIAIE SAEL MR 827,340 1,180,905 353,565
307 elztol & 302,640 247,110 55,530
10 AlISAAIEEE 22X 302,640 247,110 55,530
OOtSEXIAIE SAHX ZUZAH| XIR(Z) 105,000
OOISEXIAIE SALXF HMAHl X (E) 197,640
308 AFAIEHMSOIE 524,700 933,7% 409,095
01 XN B EES 524,700 933,79% A\409,095
OOISZEXIAIE SAAF ZUZAH| X2 (Al
=) 151,704
OOtSEXIAIE SAIXE HIHEH! X (Al
z) 372,996
OlsEs 38 MY Hat 146,500 141,450 5,050
201 ger=3| 9,300 4,250 5,050
01 AtR2te|H] 9,300 4,250 5,050
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